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e PIPE AND CISTERNS.
i';» —.—.—L"-—‘ I ;
f W—f—@b n el can fll a famk in 4B min and 36 min -

‘ :'-@TLUDM bipes A & R can fill a. dsten 'n 18 and. 24

| MUN sespectively. Both Ll pipes are opened. together but
Eminutey before the Cistsn wlll FUL bipe A s Closed .

T In how mudh Hme wll the Cistem take 4o UL P

) )

f -~ K L Ate @ 6
- : aumin .
_ K l 6min s,
. +y /+3 ¥ . 96
X‘@ sy 6X3 =18 wnit F
r = l3-§}- min

= 1-%_ min + 6 mMmin
122 min  Ang

e ——
— .

* . ® Two ful Pibes A & p <an Al @ distern in 18 & 24 mip.

- m::pe‘c‘hVQL&«- Both fll pibes are okengq togethey, buk
4 mMin befow the ciskorn s L, Pipe A 4b Led
How much Hme wilk Hhe cistean take to UL -

)
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4 yx3=I + 16
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b e ¥ min
g—_l_?- min
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(W A cisfern can be Allad. by two pipes Filling- »
P12 4 16 min saspectivelyy- Both piper ars openod. -
together, for a cdain Hme auk being clogged ony
T8 of quantity of wadtr Flows through the forme,
‘}nd— oy Sle thiough the Laktex bipe . The Obz:+rud-ioﬁ
W samoved. , Hwe cistean an fd In 2 Mmin from that

moment - Heow long- wWap UF before +he full fow began. -

Y . _

——‘\‘:

_ 2 fte,  Atre
12 min l6min 4 e
3amin i
+y +3 k) s
/ - da X3=a|
- _ ;
Y& m
N . e ;"*13.;( & min 36 T )
B= -1!'_2_ = ol } .
S g L LR LTS
A ‘ ~
) :mmb&whd-hﬂo.blpebfn;garasmin )
Fuspec VQLbL Both

pes arg,
@dain Hme. ok pej openad. fogathoe for *
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cisksn 15 fd In 5 min. from #hat moment . How 41
- long way it before the full flow begans .

decacaseq e{-‘ﬁdmlﬂ

as 4 IS = lus
T*‘E‘ aq

) @ A clstesay can be filled bﬂ—"hﬂ(}b.lbeb in 30 & 36 Min
_ sapectively-. Both pipes ww openad. togethor for a

= (udaln fime but being- particuludy- logged. onky s[6
_ Of the full quantity of- watte Flows thyough the former
-~ and en qfjo Hwough the lafter - The cbstruchon 25
semoved. 5 +he cistexn s fLlsd n 1SE min from Hhat
- Moment- How Long- was it befare full flow began ?

H A 8 A+0 AR
- 30 36 " ;j_ -
|
‘@\ _ +§-/@ 180 S ! j’;m
A= x5 =¢ g5 = M1 = 1305 unth
& o€ L
E.-. -5‘3‘_%3? Yes = 1 ,.n'm B
h... a - / et M"’ &
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®TLTJD+Q#$ Aand & can AL o tank N 30 min & 3:542
TN saspectively- . poth fupes axe opened. fogethyy b
d-“-f- to some problam they werk Sfe and q)0 of
Hhaix tFFiCienc.bp-, aftfer pome Hme the problem uwyy, -
amoved. and, 4, whole tamk wlll FlL A0 16l min;

Then affer. how MUth time the problem s *emoved

-

20 2 clogged Eff. full €ff )
© N6 ¢ 49 H? 2 f{a_.a
X min 33 _x)mi e
C ’ Eom
9.5 X unit = -:9Lmj{~ S
4 e -x) = 180 A
9Sx + 181§ —)1x = 180 i
X= Lnryun -
"+ Problam was fixedl after 1 min Ans- -
O n T
16 < min =
=
qL\E’,” s Sa min 5 fyy efficienys
Wa¥,

g — &%3¢
| — R3¢ %
™ Ist “?
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,-.quth&BCQh{—LU., a u'stesn P 20 HiL & 30 He susp-

Roth the pibes o cherud. to fill the tamk but when
e amk iy Havd full quwewilb“" the bottom
" 0f the tamk , +hmu_8h whith Hard of wodtx suppuy by

both biper Lak out - find lD——-bp\l.U muth tme +we
- hnk wiw ful R .

8 & ¢
_ 20 30
-~ 43 +2 s
" D 3
- akoge
A= S
e ol
- - -5 = 18
_Hne eff = ST3 3

’“@F\&B can AU a Xank ’n 1S & 20 H saspectively. Both
_ the tops ane openad. togethor, when the dank was [yth
~ Rl a ak develsh in the boHom of +he fank »
hoough whith ts th of the watte supply- by both the
_ bipes luak auk + find. in how many howw tank wil| fld -

~ ~ A & & Lias ) Hro-c,

: i& 13/(;@ -gow“.'*_.mg ys

; b g X
k= () =L -
btz wa-lo THmem RO s ofws
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In a tank fowe taps of equal ean‘dwt:afr e Fii-'ful.-‘
) on equal -haight Intowals . The 3¢ pipe o af the
base Of the tank and the &th pipe w» af 2uth of -
height of the tank - Then calatsde fn how much Hime
the whole ank will empfa_, £ the Lot pipe canh ~
eMbty the Zank PN 12 Houxe-

1—?5-—--——911 ) P -
3L - -
...... -—Q]EQ-D

L — = —f—>r (~ -
k1™ ; ) T
=T )
& o %'f' ;%}_, ']3"___90”7 i3t pipe awnauuna s
KL' =3 3pibe oot T%ﬁkwﬂﬁ(g- -
A4 qQ+ (2 +18+36 & 9B . 6-{; Hus - -
pipc (2 Y g
it

@Two+a,bsne,e, can fllb @ Xank in 10 Has & 12 Ha <
)mcﬁvd&-mmgmwwmc-lfwmmv
SLOPeMd.WhULHunanULMInaom.m

w many- ho
g Pouxs +p ¢ alone can empty- the. tank p

- A b pe-C -

(o] 1 30 o u:’u,t e‘"‘ﬁﬁ 'H'\l; M"—" “
S = %
+6 & s

_1— = G%HM-. ~
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ﬁ@mo in‘be, Ram can il o dstesn fn | He & 35 mir 45
rarpectivelit- - There Lo also an ouklet pipe € -1f akk the
thase bibes ars openad fogether. , the tank ds full in SO

- MIN HOW MUCh Hime, Wil be taken by ¢ 10 emphy- Hhe

,....‘_-......__...--A....__,m...........,.....“.‘..
] )

~  full Tang.
. B, B Ate-c
) 6o 1S so & il U“P*‘d’ Hu tong
¢ R "y 4 € '‘n = 200 - jeomin
| L @ 2‘
: A+B-c =6
: v +
SO Jy
i

-

@ Two pipes ars hu.nn'mar coﬂHrw.muav to AL Hhe fank .
The 18t pipe cowld. have fllled Ik in S Has by itself &

-

2nd one in 20 Has . Buk a 3vd bipe w%%m‘tnﬂhpﬁg
it but the operator did het nehice - dug to whith
it camsed a dalsy o L HL in filling- the tank .
find. the time in which the 3¥d pipe would. empty- the,
fllad rank ?
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'I'luO-blPGb can FUL a dsten (D14 & 16 Hib -’%P"-Chﬂl’bi-
The. pipes axa. openasl imultanauslyy— and. 1€ 4 found

that due {o Aeakage 1N the botHomM s ok ook 98 mip.

moa o UL the ciskan - When the ceton & ful,in 7~
what Hme will +he Ak empty- U ? &

- 2
& 8 a¥et| pyp-c = KX s
Y Ha |6 HY q Hr J J -
i A 3 - !
q 5= = "q | -
23
jg=-ME = = _
HB: II".L x—%ﬁ C= 9 q |
Bz -
= 4ygmin cwikl empl = __-—‘;:?q * ]
—C = Q2m| -
QLe-C = PR _ 112x9 _ 1008 @
Yyg+ga= SUomMp T23 23 % A
40 HAS- b : -
6o 1 = Y3 5a Hs ﬂ;ﬂ.l_=

@Thambilwa As® and. C are akbached to a dstey - Ade |
can AL 't in 30 Ha ane 20 HAS mptchvdﬂ,. & a."d.bllﬁ
C ks Qi us L wadwe per minute - If b.LL+hLku.PIL»
e obened. &:Imuli-an.mubud. the fank wiul AUl in 1S He .~
find the @padty of the tank . J

TR 8 pec| il emply te tang= 622 6oy

30 HY 20HY IS Hr

" Effideny of ¢ of taing out =
us Lt  min 1
te-c= Yy C‘*Pﬂtua of Tamg= 60%X60XHS =
<= g = |b2000 UT-  _

—t
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‘_@ﬂ-lﬂﬂ#'ln‘rh_e.boﬂ'om Of the tank can empty iF in 6

, HWu At AU the tank @ UL /min Ts fwwn on- if
© both tabs axa abened then the fank. wllk emphy- in 8

-

- W Find the capadty of the tank ?

b = o —A+8 - ;
—6 Hr -8 Ho B ww ful the rang = 3‘{1_:.::5‘4 3
:- -4 /_3 B won il ¢ .li‘htl mu'n
] ) capaci+d 0 Tamk = AUX6o XY
: -A+l = -2 = $F6o litre .
- @
N =3 Uz

L -

:@H-tmini-hn_bﬁ%m of a *ank can empty it in 12
~ Hw. & tap which can added. 20L| min i8 twn on.

~ PRoth the taps axe openad. hows, then the tank i

—

~  Smphed Tn 20 Hus . find the @padty of the tank .

i

{ =
{ A ok :
i RryY P, B wwl il = 60 = 30 HA
: - -20H™ i
- B can AU 20 UWht| min
n -S -3
i Go) ‘. capauty of Tamk = 2pxe0x 20
| A -:u+e, = -3 = 36000 Ut .
o R=2
)
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(1)) ® tops axa fittal In a fonk , some W& Watve nps &

sast W qublet dap - Each watpe tap can fll the fank_
in 12 Ha and each ouklt tap can emp¥y N 36 Howe. -

AL Tn 3 HAs. i
...--'g
3= BI.UI’UJ -
12.H %6 H - s I
‘,a_"'n:.:':kl o all s e
+2¥"| ;‘\aq; ™ '\—'3_':,:.":? watey Taps = »
O \ﬁi R s
- s S SAL-
_3_- Il -t % —-'\'J"" \"9
-~ 3 . .
) "‘I‘q’* ¥ fiHed (n @ fank , some are watve Xaps & -

‘st e autlet tubs . Edch wadie kabp can fl the tap
In 6 e and. each outlet fap can empty the tap in ‘
R IE Al the fabs axe open togethor. then the

Tank B fll Th U Has. find Hhe no-o%mmm.-

e

-® ® ® ©
6 h —2h W |
.n_\@/_n & ®
ot |
| 1% 3 - : St1=12-
Y ' £ © & :
WakiBp  Outtet Tap
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;@ A Tankd- &' conrecttd “With 8 BIped . Some of mﬁ,{t
. Inet bipes and sust are outlet pipes « Each of the

“ inlek PiPe can fill the tank in 8 Huw individualupwhile
- Ach QuHet bibe can emply- the tank. in 6 Hia Individually.
- t'Fw{'h&-b“P%wknpi- open when the Xank O flL
0w i&kiﬁHM'FDerQ_j;mK-hemphd_-Howmn&
~ of thue anw intot bipes 7

~o & B
" taH —(H @ =4 '3.;.»*" - =
, +—¥—‘1 =
(%) @Y =& — 8
.:kﬂ-/'. \-LS' 1-—"’“‘
I : |

:@lrn&gcqhmthrn 0 HA & 1S Hus suspectivaly
: ﬂhmttuj;mpcmhambtﬁ&inzom-lniﬁmﬁ—ho_
b and tap g ane opened. and. when the fonk was

~  Hposed to be fruled. i was found thak *ap ¢ was open
: mlﬁukmlg_,mmcibcmsed,-ﬂ%howmuwﬁmg‘lﬂnkwillﬁll'[’

Sl § B & lexsA¥es -
- loH IgH  _aoH fzp Allit= I8
Te)
- 60
Ma). ¢
)" -_J;—: ‘ Ha.ﬂ
[ . e T e e e AT et Lt Y e T .
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. by Hhe cold waktx pipe in I?)O
@ A bath @b filled -

minuy and by the ek . -
A boson Lawes the bathioom aftex turning-an- both $ipe;

when ol
sl mulfangously and. satwins ok Hhe rmomertt the jo
bath should be full - finding- howevtses Hhat the wasts

i ; the ¥ .
{:tt:emmenopen,hnnowcwsaiu:.mqmmmm ‘i

water bipe 1015 minuke.

-

bakh &> full. M what fime would. +he waste pipe empty,

& ?
- A & | Sxwastebibe = ()X :
“_" 1S .
|o ax woasgke PIPe = C—”“') X 2 -
3 > _ g
o) ax waste pipe= 1© =
. o
Ate = 2L= 6H waste pipe = 'é',"' 2 =
s Jj_ . _ . 26xX3 o
waste pipe wul -QMPH =Tk +o
= q min W

@2 B Mmonkey- dimb a bole. of height 100 M. 1t dimbss
€M above in 18t min apd Um below {n 2hd- mun .
M hour Many- MUty Monkey- Wl Uimhs oh )
e -L::ole.? )
- Mk e
I e (2min) — 3 mt. -

lK‘H- bﬂr}

Wmin —  qumt

bmin — ¢t

—_ Aintiiell
i ™M) _ i
it 100 v
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:‘H monkey Umb a pole of hughi— 6om - 9t dimb 51
2 Sm above in L% min and q ™ betow N 2nhd. mun .

hn how many- minuts Monkay wll cimb on the

_ ol 7

“ A g

. T l | Ycle (2min) | M~ Studing T

- st and lxs:; l‘ifs' Sﬁa’-‘tﬁﬁ( mﬁ
: lloﬂjﬂn 55 mit. Dijr:? L“"'ﬂi’ |
_ | Mmun s mt

_ M wn 6o mt -

'q R8> C W‘P‘P’@b aktached. o a cisten. AL B can
AUl i+ in 20 min & 3omin mfegﬁvelﬁf while. € can
~ ﬁmed ih 1S min. & A>@>C Kept open successively-
for 1 min each 5 how soon the cistesn will be

- flud ?

-~ 8 ) &

_ +a N\t | uycde (3h) |

- (60) s |xss
& l6s 5%
- | mLn +3
R I riin +a

- 6% min 6o
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TQPHandTamenGJLa;tanA n IOFM&;:_%SZ

Mcﬁudﬂ_.'{‘@cmn er)b'b’dii' [N |'J-H)t2:"'F Q-LLHU‘\'
taps ww open altexnatively- | Hu each ,then the Whpy, -
dank wl Ul D how many- hours - >

) C A & C .&
Ko} + +3 i ] A
+6 | ke ((3H) Y "
%13 |x13 -
294 -] -
| h +6 .
< 2 }
G -
e Lb%- HJL. (]

& & &
2h  h -6oh ﬂ:; T -
+2 o8 ;(/ t I":',l“C.
|
@ ICHdt L'LHU-) ey =
.-"""'——-u-t £

Yo Kr "
—_— €0 umy
\__—_—_— ) __-:
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@1 what ﬁmwou&qmmxbmb&z#iww
< |~ whose diameiis axe 1cms 1 un 5 2 em running-fogether,,
© when the Lugest alone HIL i+ in 61 min. The amownt
: of wadie -Flouoinaa in tU’ each pipe bdngz proporhonal
w L hhmwopi&,diqmm?

R S S —————.

« f & - 1 : —%— - X capocﬁgo1r- tank= 36X6|

=~ D% B : Y S ¥ qQ+16+36= 6|
- | v Ll = 36X _36mi
~ Ef+» 9 + 16 + cstean wid 'FIM-_h_,,_. =36 Mib

L7 @ in what Hme wowldl a cistesn be filled. by 3 pipes
whose diamettxs axe (€M 2cm s yem running- together.

; s When the Lasgest alone UL Tt Tn 14, How » e amount
- o of wattk Fowing 'n by- each pipe -being proportonal
% 1o the squase of its diamety -
Tl o~ eba 4 i n o M capadfyof Tank= lexzy
U A 7" I Tk fl = 16x2L

t .. "_r'!.‘,-;; —
p } : |+U‘Hﬁ-'—al' ua 16y 34— A
o ' mmm’mmhmwtwm
o1 . Mo Bibes A28 openod. togethes to FilL It . and. Pt sl
o~ dmkes 2tk min mova o ful the +ank Hhan A48 togethar,
- : doke . When the tank Wl be full i both bibes axe openasl
’ . simuldangausty- ?
N A R A+3 min
; | i f 1—'6—;'“1‘]” ] A+ m‘l-U. 'H-u.:- @ ﬂr’ll'n ;ﬁ_g_;
o ': jzﬁﬂ ;
4 E 3 = @mih
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ff'-dﬂgﬂ" |lm+'l'5b Cﬂ,n 5‘4

n
am+yb can ewxn Ry 356 ;
@ o Hme wll FMan+9 b%u;

awen R 3008 n @ dogs, m wh

easen Ry 2Uge .7

(amtub)xd _ (m+13b)**

Y. 3ebé—
+08-- -G:f'l‘f‘
sY 187
m _ sz
b 3ax

Qm-l- ub) = (1sx+12%) = a¥%
(Imipb)= (ss+ 39y) = 94x

dFx xq a5¢- (o8

X=y

) P T
b e

Mg = [YotoR = g

QMm99 wil ewn=  atap
W= lo dabg,
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